/DVIRB

*UXSD 5RINiDG -03 ,% = - 7\J
o
™
=
n
oD
)
—_
o
7N 7N
3RGVIDZ\ PRGHRZDQID 3RGVIDZ\ PRGHRZDQID ™
1DJURTHE GU %HIQDFND 1DJURTHE GU %HIQDFND
ODJGDHQD $  $ ODJGDHQD $ 3RGVIDZ\
3URIRNSRZDQD = 7\G] 3URIRNSRZDQD = = 03| [PRGHRZDQ
203 %= - HN= 7/ b
1DJURTHE
7N ol
3RGVIDZ\ PRGHIRZDQLD JDJURTHE GU gigg%%fﬂ%
=z 7\6] %HUQDFND ODJGDIHQD $ THQ
< 3RGVIDZ\ | [3RIRASRZDQD " =03 %= 7 $ 8
q
O
7 ERGHJRZDQ 3IRIRNSRZ
- DOD " -
%E)JURIHE o
9%6.HUQDFND -
ODJGDIHQD
$ $
3URIRNSRZ
DOD " -
03 % =
7N 7\6] 7\6]
BURIHNI LQT\QHIVNL ,, GUIQT "HPELF]DN 7RPDV] $  3URIRASRZDQD * = O3 % = 7HFKQIFIQH VAVIHP\ JDEH]SHFIHE Z PJU | |7HEKQIFIQH VAVIHP\ TDEHISHFIHE FZ PJ
/ 1QT 8IPD ODFIHI $% =03 %= U1QT 8IPD ODFIHI $% =03 %=
z &
7\G]
3URIHNYIQT\QIHVNL ,, GUIQT "HPEFIDN7RPDV] $  3RIRINSRZDQD = =03 % = nCH 7\G] )
/ =DJURTHQID Z GUIRGRZIVNX SUDF\ Z GU+\ID | |7HFKQIFQH VAVIHP\ JDEH]SIHFIHE FZ PJ
OD:JRUIDID $% 03 %= = U1QT 8IPD ODFLHI $% =03 %=
7\6] 7\6] &
o =DJURTHQID Z GURGRZIVNX SUDF\ Z GU-+\ID | |=DJUIRTHQLD Z GURGRZIVNX SUDF\ Z GU +\ID 7\G] )
= OD:JRUIDID $% 03 %= - OD:JRUIDID $% 03 %= = 7HFKQIFIQH VAVIHP\ JDEHISIHETHE Z PJU
W 1QT 8IPD ODFIHI $% =03 %=
T 7\G] 7\6] :
BURIHNI LQT\QUHUVNL ,, GUIQT " HPELF]DN 7HFKQIFJQH VAVIHP\ JDEH]SIHFTHE FZ PJ
7RPDV] $  3WRIRASRZDQD " =03 | |vQT 8IPD ODFHI $% =03 %= 7] )
%=/ & 7HFKQFJQH VAVIHP\ JDEH]SIHFTHE DI IHIHQRZH %DVIDN ODUXV] =03 %= &

7\G]

7HFKQIF1QH VAVIHP\ JDEHISIHFIHE Z PJU
1QT 8IPD ODFIHI $% 03 %=

=DICFLD RGECGa VL € Z &6363 X! 6D

ELQRZVND

7\G]

03 %= &
=DICFLD RGECGa VL € Z &6363 X! 6D

ELQRZVND

3RGVIDZ\ PRGHIRZDQLD JDJURTHE ]DICFLD IHUIHQRZH %DVIDN ODUXV] -UCFLZUN *DZLG




/DVIRB

*UXSD 5RINiDG -03 ,% = - 7\J
7\6] 7\6]
B 3RGVIDZ\ PRGHIRZDQID 3RGVIDZ\ PRGHIRZDQLD JDJURTHE
1 1DJIRTHE GU %HUQDFND IDICFLD IHIHQRZH  %DVLON ODUXV]
3RGVIDZ\ ||[ODJIGDHGD $ JUGFLZIN "DZIG 03 %= &
PRGHRZDQ| ||3IRIRNSRZDQID = - 03 ~DICFID RGECGa VL.C Z &6363 XI
A || L 6DELQRZVND
1DJIRTHE
Gl
%HUQDFND
ODJGDIHQD
$
3URIRNSRZ
DQD - =
a 03 % =
o -
w
& 7\6]
ZHFKQLF]QH VAVIHP TDEH]SIHFTHE DI
IHIHQRZH  %DVLDN ODUXV] = O3 % =
&
=DICFLD RGECGa VL C Z &6363 X!
GDELQRZVND
7\6]
ORQURIRZDQH JDJURTHE
EH]SIHFTHEVIZD ]DICFID IHIHQRZH =\
GIDSUXI 03 %= &
=DICFID RGECGa VL € Z &6363 XI
BDELQRZVND
7N 7N 7N 7N 7N
_ = HQIIDFID L NLPDINIDFID Z | | = HQINIDFID L NUPDIN]DFID = HQIIDFID L NLPDIN]DFID BURIHNILQT\QLHIVNL ,, GUIQT 6RVQRZVN.ODUFIQ $  3URIRASRZDQID * =
-C]I\NREF\ =03 %= PJUIQT SHVIND 3IRIU $% iz PJUIQT SHVIND 3R $| [ IDE PJUIQT SHVIND 3RW $|||03 %= 7/
- 203 % = =% - % 203 % = =% & 203 % = =%/
*jyZQ\ EXG\QHN 8-~ X 3 3 76l 76l
= DV]\QJIRQD D D ORQURIRZDQH JDJIRTHE EH]SIHFTHEVIZD ORQURIRZDQH JDJURTHE
OHIRG\ND VINRIHE %+3 PJU /ISRZIF] $UIXU OHIRG\ND VINRIHE %+3 PJU /ISRZIF] $UIXU ||| Z  PJU 21ENG 6:DZRPW $% =03 EHISIHFIHEVIZD GZ PJ
% Z03 %= =% : $% 03 %= =%& %= - U 20ENNE 6:DZRPU $%
03 %= &
a 7\6] 7\6] 7N
2 OHIRG\ND VINRIHE %+3 P /ISRZIF] $UIXU OHIRGAND VINRIHE %-+3 PJU /ISRZIF] $UXU |||ORQURIRZDQIH JDIURTHE EHJSHFTHEVIZD ™ )
= $% Z03 %= =% $% 03 %= =%& Z PJU20ENG 6:DZRPU $% =03 ORQURIRZDQH JDJURTHE
0) %= - EHISIHEIHEVIZD 12 PJ
g 7\6] U 20E0NG GiDZRPL $%
=DJURTHQLD Z GURGRZIVNX SUDF\ IDE SURI QDG]Z )ULSHFNL -DFHN $% =03 % O3%= &
= /
7\6]
=DJURTHQID Z GURGRZLVNX SUDF\ IDE SURI QDG]Z )ULSHFNL -DFHN $% =03 %
=/
7\6]
=DJUIRTHQID Z GUIRGRZLVNX SUDF\ (DE SURI QDG]Z )ULSHFNL ~DFHN $% =03 %
= /




